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Main Menu ) Display ) Draw lcons / Draw Full Names= A&
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Main Menu ) Display ) Draw Fancy Wires2 AH

1: No data

21 Component

3: Multiple data

4: Single data

5: Multiple data group (tree)
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— Input component: Point, Curve, Surface & 253 29| O10|2& 71 ATHHEE S5H
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— Number: integers, floating point

— Geometry: point, line, curve, rectangle, cirvle, surface, brep, mesh...
— Domain

— Boolean (true/false)

— Vector

— Plane

— Force field
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{0;0;0} 10 Index

1—10 {0.0, 0.0, 0.0} 2. Tree address
1 {0.0, 9.237224, 0.0} 3: Data value
2 {0.0, 18.474447, 0.0}

3 {0.0, 27.711671, 0.0}

4 {0.0, 36.948894, 0.0}

5 {0.0, 46.186118, 0.0}

¢ {0;0:1}—)
0 {11.370381, 0.0, 0.0}

1 {11.370381, 9.237224, 0.0}

2 {11.370381, 18.474447, 0.0}——

3 {11.370381, 27.711671, 0.0}

4 {11.370381, 36.948894, 0.0}

5 {11.370381, 46.186118, 0.0}

{0:0;2}

0 {22.740762, 0.0, 0.0}




